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1) (a) Classify the following as positive/normative economics:
(i) The incidence of a tax on ice creams is higher on sellers.
(ii) On average, women earn less than men.
(iii) Higher inflation is bad.
(iv) Markets should be allowed to operate freely without any government
interference for economic development.
(v) Given high inflation the minimum wage should be Rs. 200/hour. 5
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Workers in country A can produce 200 pencils or 30 pens in a year while in

country B can produce 200 pencils or 18 pens in a year.

(i) Assuming each country has 50 workers, graph the Production Possibility
Frontier (PPF) of each country.

(i) Explain the range of the price of a pencil in terms of pens for which the two
countries might trade. 5
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If we observe more rice is purchased this year than last year, we may conclude
that demand has increased and therefore price must have increased. Comment.
5
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Rahul purchases only 2 goods: ice cream and chocolates. If own price elasticity
of demand for chocolates is 1, what is the cross price elasticity of demand for
ice creams? Show your calculation/reasoning. 3.75
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“Subsidies are inefficient since they lead to a deadweight loss.” Do you agree?
Use diagrams to illustrate your answer 5
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You are considering two cable networks for your television. Tatasky charges
Rs. 120 per month regardless of the channels watched. Hathway on the other
hand charges Rs. 1/ channel per month. Your monthly channel demand is given
by the equation CP = 150 — 50P, where P is the price per channel.
(i) How many channels per month will you watch with each network?
(i1) Based on consumer surplus obtained, which provider should you choose

5
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Two commodities A and B have linear supply curves and identical linear
demand curves. At equilibrium, price elasticity of supply for commodity A is
greater than that of B but elasticity of demand is the same. If a tax of Rs. t per
unit is imposed on both commodities, in which case will the burden be greater
on the supplier? Explain with the help of a diagram. 5
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Delhi government is very worried about the impact of pollution on public
health. It is thinking about 2 ways to curb pollution:

(i) Impose a fine of Rs. 100 on anyone found bursting crackers

(ii) Impose a fine of Rs. 100 on anyone found selling crackers

Which out of these two will be more effective in curbing pollution? Explain and
illustrate. 3.75
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If a consumer does not buy less of a commodity when his income rises, then he
will surely buy less when the price of the commodity rises. Explain and
illustrate using income effect and substitution effect. 6
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Nitin consumes 2 burgers and 2 cokes every day when his income per month is
Rs. 10,000 and the prices of burger and coke are Rs. 10/burger and Rs. 6/ coke.
The prices of burger and coke increase to Rs. 20 and Rs. 12 respectively. His
employer increases his salary to Rs. 20,000. Show the impact of the following
changes on his budget set and his consumption using indifference curves. 4.75
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Consider a couple’s decision about how many children to have. Assume that
over a lifetime a couple has 100,000 hours of time to either work or raise
children. The wage is 5 per hour. Raising a child takes 10,000 hours of time.
(i) Draw the budget constraint showing the trade-off between lifetime
consumption and number of children (ignore the fact that children come
only in whole numbers). Show indifference curves and an optimum choice.
(ii) Suppose the wage increases to Rs. 10 per hour. Show how the budget
constraint shifts. Using income and substitution effects, discuss the impact
of the change on number of children and lifetime consumption. 8
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A firm uses labour and capital to produce 5000 units of output that it sells for
Rs. 10/unit. The labour cost is Rs. 45,000. The capital stock is worth Rs.
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100,000 and the return available to investors with comparable risk is 10%. Is
this a profitable firm? Explain your answer.

3
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The market for firecrackers is perfectly competitive and is in long run
equilibrium at price, P=Rs 30/piece. Due to pollution doctors issue an advisory
against burning firecrackers. How will this impact the price of firecrackers,

number of firms in the industry and profit of each firm in the short run and long
run? Illustrate and explain.

8
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Consider the following table for long run total cost of 3 firms:

Qty. 1 2 3 4 5 6 7
FirmA | Rs.10 | Rs.20 | Rs.30 | Rs.40 | Rs.50 | Rs.60 | Rs.70
FirmB | Rs.60 | Rs.70 | Rs.90 | Rs.100 | Rs. 110 | Rs. 120 | Rs. 126
Firm C Rs. 1 Rs. 4 Rs. 9 Rs.16 | Rs.25 | Rs.36 | Rs.49

Do these firms experience economies of scale, diseconomies of scale or constant
returns to scale? 2.75
3 AT i AT T AW 6 (o7 7 qrierant 9¢ A= i<

Qty. 1 2 3 4 5 6 7
FirmA | Rs.10 | Rs.20 | Rs.30 | Rs.40 | Rs.50 | Rs.60 | Rs.70
FirmB | Rs.60 | Rs.70 | Rs.90 | Rs.100 | Rs. 110 | Rs. 120 | Rs. 126
Firm C Rs. 1 Rs. 4 Rs. 9 Rs.16 | Rs.25 | Rs.36 | Rs.49
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A profit maximizing firm in a competitive market is currently producing 50

units of output. The market price is Rs. 10, the firms average variable cost is Rs.
5 and its fixed cost is Rs. 250.
(1) What is the profit of the firm?
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(i1) What is its marginal cost?
(i11) What is the efficient scale of production for this firm 5
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A monopoly faces the following demand schedule:

P Q
0 14
1 12
2 10
3 8
4 6
5 4
6 2
7 0

Find his profit maximizing price and output if he has a constant marginal cost
of Rs. 5.
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Perfect price discrimination by a monopolist increases total welfare in the
society but consumers may not be happy with it. Why? Explain and illustrate 5
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What is a natural monopoly? Illustrate and explain the problem with the
following two approaches of regulating a natural monopoly:

(i) Imposing competitive pricing on a natural monopoly.

(if) Imposing average cost pricing on a natural monopoly. 5
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“Monopoly is socially inefficient because it charges a price higher than its MC
of production” True or False? Explain. 3.75
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Weavers use yarn knitting machines to make sweaters. Due to a strike in the
yarn Kknitting industry, fewer machines are built this year. How does this
impact the wages of weavers? 5
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The equilibrium price of rice is Rs. 50/kg. Government imposes a ceiling price
Rs. 40/kg. Using diagrams to show how this will impact the rice market and the
wages of rice growers. 6
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Migration of skilled labour was banned between India and USA. The wage rate
was higher in USA as compared to India. A new agreement between the two
countries allows skilled labour migration. Show and explain the changes in the
skilled labour market in terms of wage and productivity in both countries. 7.75
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